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5803-I
M.Com. (Final) ABST Examination, 2018

OPERATIONS RESEARCH

Time : Three Hours
Maximum Marks : 100

s PART-A (T@UE-31) [Marks : 20
* Answer all questions (50 words each).
i All questions carry equal marks.

o+t yv9 e ¥ TRE W 1 IW 50 TR
¥ sfuF 7 B T TR B %% A R

PART-B (@=-9) [Marks : 50
: Answer five questions (250 words each), selecting
one question from each unit. All questions carry equal marks.

. T TEE Y T WA 9 g, |9 Ui A
| o9 FHU YOF T 1 IW 250 TR ¥ AfF 7 F
Toft TR B oF A R

PART-C (@Ue-H) [Marks : 30
Answer any two questions (300 words each).
All questions carry equal marks.

Fr 2 Y PN T&F I FIW 300 TR
3 afiw 7 B Tft wE @ oFF gEm 2
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PART-A
(TuE-3r)

1. Answer all questions.

Tt v ® IW A

UNIT-I

(FwTE-1)

(i) Explain the Monte-Carlo method.
He-we fafe 5 wwem

(ii) Explain the concept of Standard error.

Y AR HT SHEURIT F TS i)

UNIT-1I

(gE-11 )

(iii) Discuss the Vogel's Approximation method.

T Ft Freem TRt w wwemy

(iv) When does an assignment problem become
unbalanced assignment problem ?

AT T FI S T w9 S 82
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UNIT-III

(FeTE-111 )

(v) Give two differences between Decision theory and
Game theory.

Decision theory 3R Game theory H &Y 3T=R g

(vi) What is Pay off Matrix ?
Pay-off Matrix &1 #?

UNIT-1IV
(FEE-1IV)

(vii) What is Queuing Theory ?

Far fagr w1 gHEEY

(viii) How random numbers are generated ?

=D AT FE e freeh s §2

UNIT-V
(FHTE-V )

(ix) What is Inventory Cost ?

@ TR 8?2
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(x) Write any two uses of PERT.
PERT % ¥ Yaril i Famgy)

PART-B
(@ve-w)

UNIT-I

(FFE-1)

2. Explain the application and limitations of Linear
Programming.

W vm % fafv= wam e el B ausmE ¢

OR
(37%Fa)

3. Graphically represent the following programming.
= W gt ® e W R S
Maximize Z = 3x, + 2y, subject to the resistances

2x, +x,540
x +x,£24
2x, +3x,< 60
%: 520
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UNIT-II
(FemE-11)

4. The following are given factories to warehouses
transportation, quantities available at each factory and
quantities demanded at each warehouse.

FREA ¥ TeE T B uEEs e v T, Wow
FER ¥ IS A a0 W& TEm WA W A
e gFR & TR R

Factory Warehouse Available
A B C D at factory
¥ 10 22 17101 20 8
{28 15 201 12 8 13
r, 20 12:1:10 13 .45 1y
Demand at 7 10 6 9 32
warehouse

Find out the optimum solution of the problem.

ufEEd TS 1 ATHeeH g Fqasd|

OR
(&tEm)

5. Explain in brief with examples :

(a) Lowest Cost Entry Method.

(b) Vogel's Approximation Method.
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(@) sew &1 3FAm fafy)

UNIT-II1

(FeTE-II1 )

6. What do you mean by Data Envelopment Analysis ? Explain
its application.

Y HE fawe favemn 9 s s § we e
Tar # gHETE
OR
(veram)
7. Solve the following game by Graphical method :

= ge =i wfes fafe ¥ s #ifw .

Player C

C, C,

Player R R, 1 -3
R, 3 5

R, -1 6

R, 4 1

R, 2 2

R, -5 0
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10.

UNIT-1V

(E-1V )

Explain with suitable example Single chain system of
Queuing Theory.
M TGN & ThE gEen e § oswo g
REEIN '
OR
(37e7m)

What do you understand by Replacement of Assets ?
Describe various Replacement situations.

wﬁﬁa}mmﬁmwwﬁi??faﬁmmm
RfEfea #1 qu Hifg

UNIT-V

(¥-V)
Explain the utility of P.E.R.T. What is dummy activity ?
Why is it used ?
PERT %1 IWdfn % wwemewl ®Ft 7 frame = &
TH TR w9 fE s )

OR
(37era)
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11. Given is the following information about a Project :

ﬁﬁﬁ'ﬁﬂmﬁ’@%:

Activity Duration Activity Duration
(in days) (in days)
1-2 2 4-6 3
1-3 2 5-8 1
14 1 6-9 5
2-5 4 7-8 4
3-6 8 8-9 3
3-7 5

(a) Find total float for each activity.
(b) Critical Path and its duration.

PART-C
(@ue-u)

UNIT-1
(gTs-1)

' 12. How are ‘Key Column’, ‘Key Row’ and ‘Key Value’ are
identified in simplex method by suitable example ?

mmﬁ‘ﬁm',‘ﬁﬁ'@‘ﬁﬁ@’
fFT THR TEIE S 87 SEe g fadea Hif
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14.

UNIT-II

(F&TE-11 )

13. What are the relevant costs for inventory decision ? How
are they obtained in real life situation ?

wia fofz & fow s orm #1827 aafys Steq
it § | 9 79 F w@ 2

UNIT-III

(F=TE-I11 )

Two breakfast food manufacturers ABC and XYZ are
competing for an increased market share. The pay-off

matrix, shown in the following table, shows increase in
market share of ABC and decrease in market share of XYZ.

XYZ

Give | Decrease | Maintain | Increase

ABC Coupons| Price Present | Advertising
Strategy

Give 2 -2 4 1
Coupons
Decrease 6 1 12 3
Price
Maintain
Present -3 2 0 6
Stretegy
Increase p. -3 y 1
Advertising
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15.

Simplify the problem by rule of dominance and find optimal
strategies for both the manufacturers and the value of the
game.

IR B9 % fU ABC waq XYZ % fau smemw
WSS a1 @9 &1 ged yefaal % fagm #1 wEn #

A ST

UNIT-IV
(THTE-1IV )

A company manufactures 30 units per day. The sale of these
items depends upon demand which has the following
distibution :

TF FO WA 30 TEal Safka w1 3 T
fopt din W snuf & e famo fret v R

Sales (units) 27 28 29 30 31 32
Probability 1035 0, 3 I W 15| .05

The production cost and sales price of each unit are Rs. 40
and Rs. 50, respectively. Any unsold product is to be
disposed off at a loss of Rs. 15 per unit. There is penalty of
Rs. 5 per unit if the demand is not met. Using the following
random numbers, estimate the total profit/loss for the
company for the next ten days :

10, 99, 65, 99, 95, 01, 79, 11, 16, 20
A THE HI IART AR a9 fawa qew T 40 qe
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16.

50 ¥ ®, FE off 7 R g Tww 15 T o wh W
e frar s 8, afk =in @i T ot & @ 5 . R
R T 1 Yen Wen w1 o w1 g, o <
&t # foau w@ ewef #1 s @

10, 99, 65, 99, 95, 01, 79, 11, 16, 20

UNIT-V

(¥TE-V)

For a small project of 12 activities, the details are given
below. Draw the Network and find critical path and project
completion time,

ﬁ%lzmﬁémmmﬁmﬁam@
frdie v o w1 qofm T w1 o it

Activity A B D R G BTG R

Dependence - - - BAA C E E D:EH E L1' G
Duration 9 4 17 87 51008 6 9 10542
(days)
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